8- 9FLFDE A=REB-A—TUHBEH B=#HX -JTOv/HiBEK
NE iz K4 BEIRAUL | REERAUL | MRARAUF | R—FR
1 ‘A AHVE 90.00 60.00 30.00
2 |Z2H EAHIL 59.00 45.00 14.00
3 WH =E 32.70 25.00 7.70
4 HEA UF 29.20 25.00 4.20
5 | RiZE B 28.15 25.00 3.15
6 |FH Xk 25.50 15.00 10.50
7 |HREFE b3k 20.65 17.50 3.15
8 |JA E 18.00 18.00
9 |]REE VD 14.90 12.50 2.40
10 [iF{K D 7.70 7.70
" Ihg F= 6.00 6.00
12 |[RE #k 5.30 5.30
13 |7kH = 4.70 4.70
14 |MWE HF 2.80 2.80
15 RE INE 2.60 2.60
16 (PSR BEZE 2.15 2.15
16 |FEA HE 2.15 215
18 |BFRE 4R 2.00 2.00
19 |fEFH F0x%k 1.90 1.90
20 |HH B 1.80 1.80
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